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1.1 4$HiER R —NuE BT
—fRIcHIERL, R—1LHicmdInsde, #l H(s)
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Ko
S = K = s p - y P =—— 4
G(S) SS—P)(S—Py) " T T T T T T )
LT, #EFRER 1+G(SH(S)=0 11, knkHick s,
S3— (P14 P2)S2—P1P2S+Ko= 0 (5)

g, ROCRTEGED S, HEEHED 74 Kol /TiTfE L 72Ko % BN EA LAV 3,
Kicarva—2%2MAL, 70774 %2Eb720, BEMICET 258EHE»2I1T5,
Q#EBHIG(S), H(S) WA, LR L, BEINBOKE L% D,

QENBF BT AR D 510 & 158 - 720 3 AL (180+ N X360) /(RO —Funtk) %5,
O, EAHHREICHETE NHE, —OBXICHRAMYRET 28 ThH 5,
@y Edh 249 5 8I3(SPi—2Z1)/(n—m) TH 3,
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2.1 G(S) H(S) O, IUTRIEEH->TL3HE

HUEHRERNG(S)H(S)22ENR LT 5,

K(S—Z1)(S—Pz) =« (S—7Znm)

G(S)H(S):(S—Pl)(S—PZ) ......... (S—Pn) )
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woym), Z(L)Y(L=1, 2, - , m) ELTEL, n2B0¥, BLUmkEEOHET S,

KICHEMARRERG)N L 12, SICBT ankAREREL, S" HOFEKEEI AL+ 1 —N)(N=
n, n—1, - 1, 0) THoEbTE, BHEFERI S ENLYICEINE, 22T, NIZKHEDH
Lbd,

A(1)S"+A(2)S" 1+ AB)S" 2 ++-+A(n)S+A(n+ 1)=0 (7)

72 & 21E, G(S)H(S)=K(S—Z1)(S—Z2)/(S—P1)(S—P2)(S—Ps) A& (320, 2250
EFREAT D) RNOFE, AQ), AQ)F-, Alnt+ 1) 3RKX0@) P(1), P@2), Z(1), Z(2T
HobiEnd,
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A(2=—P(1)—P(2-P(3)+K

AQR)=P(1)-P(2)+P(2)- P(3)+ P(3)- P(1)— K{Z(1)+ Z(2)}

A4)=—P()-P(2-P(3)+K-Z(1)-Z(2)
—IAREE DS, S FOBEEI L O THZ 2 bNBENT, FEAQL), A@Q), A@B)---
(), Aln+ 1) i3, EEBEMIEE2EICRE, T4bb, N HNMEREIIZOMEHELE
TLENHD, BorRbdE, 707701785, £FK AN+ 1 —N) OBIENRTES L %cl}
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G(S)H(S) T & 5
. S00 °
K 510 M=0:A(1)=1
(s-P1)(sS-P2)(S-P2) 520 A(2)=-P(1)-P(2)-P(3)

S30 A(3)=P(1)xP(2)+P(2)%P(3)+P(3)#P(1)
540 AC4)=-P(1)%P(2)mP(3)+K

500 °
510 M=0:A(1)=1
X(8-71)(8-22) . 520 A(2)=-P(1)-P(2)-P(3)+K
(s-P1)(s-P2)(S-P3) S30 A(3)=P(1)%P(2)+P(2)#P(3)+P(3)#P(1)-Kn(Z(1)+2(2))

540 A(8)=-P(1)#P(2)8P(3)+KnZ(1)%Z(2)

510 M=0:A(1)=1

K 520 A(2)=-P(1)-P(2)-P(3)-P(4)

(5-71)(5-P2)(5-73) (5-Ph) S30 A(3)aP(1)aP(2)+P(2)xP(3)+P(3)aP(1)+P(4)u(P(1)+P(2)+P(3))
- - = = 540 A(4)=-P(1)xP(2)%P(3)-P(4)#(P(1)aP(2)+P(2)2P(3)+P(3)#P(1))

S50 A(S)=P(1)%P(2)xP(3)#P(4)+K

S00 °

510 M=0:1A(1)=1

520 P9=P(1)#P(2)+P(2)#P(3)+P(3)#P(1)
S30 A(2)=-P(1)-P(2)-P(3)-P(4)-P(3)

K 540 A(3)=P9+P(4)%(P(1)+P(2)+P(3))+P(SIN(P(1)+P(2)+P(3)+P(4))
(5-P1)(5-P2)(S-23)(S-PL)(S-P5) " |S50 AC4)=—P(1)8P(2)%P(3)-P(8)IPI-P(S5)H(PI+P(4)%(P(1)+P(2)+P(3))}
S60 A(S)aP(1)%P(2)%P(3)nP(4)+P(1)#P(2)%P(I)P(S5)+P(S5)xP(4) %P9
570 A(S)=-P(1)®P(2)8P(3)nP(4)uP(S)+K
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REm SUE PROGKAM)

P=0 :A(1)=:

A(2)==P(1)=P(2)=-P(3)=P(8)
AlI)=P(1)eP(2)eP(2)aP(3)eP(2)eP(1)eP(8)a(P(1)+P(2)eP(3I))
Af8)==P(1)eP(2)aP(3)=P(8)a(P(1)aP(2)+P(2)eP(3)+P(3)eP(]1)]
A(S)=P(1)eP(2)uP(3)aP(2)eK

R=(N/2)=INT(N/2)
IF RCX0 THEN 2220
=N :60TD 2340
6=3 .
VmA(N+1)

FOR )=3 TO N
VeVeA(Ne3 =] )uX0")
U=ACN)

FOR )=2 TO N

Unle ) aAUN+2=])0X0"(]-2)
X(N)I=XP=V/L!

1F ABS(3=XD/X(N))<.0003 THEN 2330
1 G>100 THEN 2330

XO=X(N) 3625+ :G6DTC 2230

YINI=D thami—3

FOR )=2 TO N
ACD=A(T)eAC)-2)aX(N) :NEXT ]
Juh=2ay, thwmel Fe ey

‘l:i =2 THEKN 2550

1
Bt1)=At1) :B(2)=A(2)-POeB(1)
FOFf. )=3 YO F
B(I)=A(1)-POeB(]-1)-00eB(1~2} :NEXT ]
Ct3)r=B(1) :C(2)=B(2)=PDeC(1}
FOR )=3 70 J
C(1)=B(])=POeC(]~1)=00eC(}~2) :NEXT !
Cx=C(J)=B(J) :Cy=C(.~1)"2-Cxal(t-2)
D= (B(J)aC( ~1)-B(F)aC(.~2))/CY
DO=(B(FYuC(-1)=-8(J)«lX)/TY
PO=PO+DE ¢ +00
I° ABS(D®)>.000: THEN 2510
15 ABS(DQ)<.000: THEN 2530

INEXT 1

INEXT )

* JF G>10C THEN 2530

6=6+1 :607C

2390
2530 FOK )=: TO F :AC1)=B(]) :NEXT }

> X2=X1

Aa=) :BB=PD :CC=00 :GOT0 2560
Aa=A(1) :BBmA(2) :CC=A(3)
DO=RE ~2-8eAa«CCT

1F DDXD THEN 2810

> X)=(—BB+SOR(DD))/(2eAA) :YI=D

X7=(~Bb=SOR(D0D))/(2aAA) :Y2=0
GOTC 2630

X)==BB/(2eAA) :Y1oSOR(=DD)/(2aAA)
2 Y2==Y)

X(20m-1)=X; :Y(2wr=-1)=Yy?
X(2eM)=X2 :Y(2aM)=Y2Z

1T J>2 THEN 2360

266C IF E=3 THEN 2710
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BILRFT¥RLES%
3 REP J)'!O(A?‘DT’A) 2000
2 REm LOOUS 2010
10 O°EN'COm: mxs FOR QUTRS: AS o3 2020
1% PRINT “Y1T :PRING e1.°m 300 2030
2¢ PRINT "X1.,20C,3C°  :PRINT 2040
30 PRINT @1.°XG.200.F° :°RINI @3, SE‘ 2050
o - 2180
SP FOR ADs—8 TO 2 :A)=200eA0+1900  :PRINT @31,°1°:A1;:°.B5C° 2190
&0 PRINT &1, °F' 3AD INEXT AD gon
. 10
80 FOR BOe=2 TO &  :B)=200%BO+900  :PRINT @i, °r 1830, B}
:ownum @1,°F 3BD  :NEXT BO  sPRINT @1.°'F 195C,1600°  PRING u.‘r;'gzg
110 PRINT @1.°% 20C.1700°  sPRINT @i, °SS’
120 PRINT @:,°P G(S).M(S)s'  :PRINT @i, °RC,3Z°  :PRINT @,°LC" 2260
325 PRINT @i.°) 1000.C° 2270
130 PRINT @z, 135C.17SC°  (PRINT e, °PX° 2280
36C PRINT @3, °F 65C.1650°  :PRINT @1, P(§=P1)(S=P2)(S-P3)(S-P8)" 2290
200 2300
210 DIm R(12,110) 2210
220 DIF S(12,110) 2520
230 INPUT CesZ,ttBTie"IN.L 2330
280 FOF )=3 TD N 2320
25C PRINT °F':):°,273);e 2350
260 INRTT PCIY,2(1) 2360
21T 061 2370
280 Plr=) :D0=: :V=C 3E=G :XO=P(N) 2380
290 FOR k=0 TC 10C 2290
300 GOSUE 200G 2400
305 NEXT K 24310
310 FOR J=2 TO W 2420
32T FOF I=C TC 30C 2430
33X GOSE 281 2480
25 EX T 2250
3480 NEXT ] 2860
350 €= 2470
36C FOR k=300 TO 20 STES -2C 2680
37 GOSUE 2000 2a9¢
37T NEXT K 2s0C
380 FOR k=10 TO 2 STE® -I 1¢
390 GOSLE 200C 2520
392 NEXT K
400 FOR Jene: TO 2en 2540
410 FOR k=2 TC 10 STE® 2 2550
42C GUSE 3000 2560
£2% NEXT K 2570
430 FOR k=2C TC 10C STEP 2 2580
asC GOS\E J 259¢
425 NEXT K 1NXT ) 2600
250 FOR )e3 TO L 2610
46T PRINT €2, °F' :INT(1900+200<2(1)):" .90C" 262C
470 PRINT w5, °SS’ 263C
. . 26ar
:: PRINT Fe 2650
e 2670
S2U 2680
530 2696
Sar 2700
S30 2710
360 IPRING @2.°P DATac’ =
s
s 2740
sec 16070 600 e
St :6OTD 650 2770
60C
44 2800
€30
a0 281C
67T IF L=C AN 1= THEN 6% 2820
', 1607C 70C Seso
s 16070 7SO .ggg
710 FOR )e3 TO L
1F 1L THEN 7aC zee0
PRINT #2,°P';2(1)  :60T0 750
. . 1INEXT ) 2900

FOR )=: TO N
R(1,7)=INTC190042002X()))
SC1,T)=INT( $00+200eY(]))

R(].K)=]INT(1900+200eX(}=N))
S(1,K)=)NT( 900+200Y()=N))
NEXT )
PRINT ‘K=’ 3K
FOR )=3 TO N
'RIN'TI'X SRR AN {3 PERNNE o83 FACRNL 13 B}
}r E=1 THEN 29aC
-
IF SC1,T)X0 OR S(1,7)>130C THEN 2910
IF R(I,TXKO THEN 2910
IF 7¢<>0 TtEN 2890

N 3 ‘181,

PRINT

GOTD 2930
IF 1K TUEN 340

2920 PRING 1.

2910

2930
O=C 2940
FOR )= TO N $0mOP(1)-2(1) T ] 3000
O=0/(N-L) 3020
FOR )=0 TO N=3 U] )=(3.38+)02a3.28)/(N-L) N ) 3030
FOR )=C TO W) 3080
JF (UC1)/3.38)=INT(U(])/3.34)=0 OR U(]1)=3e3.38/2 THEN 970D 3050
JF UC1)=3.38/2 THEN 93C 3060
17 3.38/2¢UC]) AND 3€3.34/2>U(1) THEN Ee-1 ELST E=3 3070
FOR X7=0 TO E«il STE® Ee.2 3080
XE=INT ( 1900+ 2004 (D+X7) } 3090
Y= INT( 900+ 2000 TAN(UC ] ) yaxX7) 4000
1¥ YBCO OF vB>32aSC MEN 970
JF X8<70C OR XB)ZDO0 THEN 970
IF noo T'EN 930

7R 77 a—1

IF )= TI-EN =1}
RETURN

REr. SUE PROSRAM2

IF R(1.K)<D THEN 3080

IF SC1.K)C0 Ok S(1.K)>:500 THEN 3080
PRINT @1, 'V tR(1.K);", :S(1,K)
PRINT NS

PRINT
PRINT
PRINT
RETURN
END

PR e,
*Kk= 3K, "X= ' sR(1,K), "Y=":S(1.K)
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10 JJG!OKB'}' 07°9)
ocus2°®

20 “load ‘L
10 °324E4(A7°07°94) D et o
20 “load ‘LOCUSI 40 VIDTH 80.25:CONSQLE 0.25.0.1
30 -OEFINT A-Z 5 ViohaR
40 VIDTH 80,25:CONSOLE 0,25.0.1 O 1T 3.7 ohs 520t INAL
S0 CLEAR K 70 FOR 1sN 10 0 STEP -1
60 INPUT “939,0°072m"N.L o BT ST Tl eaoes
T0 PR Im IO N, e 90 INPUT D(Na1-1) .
80 PRINT °“»°3l:°.2°313°="; 100 PRINT *7°58) "31:°8°/ $¢29s°;
% INPUT PC13,2¢T) R R oms3l1y
100 NEXT I' 10
110 SCREEN 3,0:COLOR 7.0:QLS 3 1o SEREEN 3.01COLOR 7.0:CLS 3
120 LOCATE 140 LOCATE 0.0 .
130 FRINT 439w . 150 PRINT *7°58°,7°23/ 3°20="1N:*, 3L
140 FOR =1 TO NIPRINT PCID:*.*ssNXT 1 120 e T A Y
130 IF L=0 THEN 190 RN T
g alt 180 PRINT OCI) 3
1 *orse" .. 190 NEXT 1
180 FOR 1=t TO LPRINT ZCIDi®.°ssMEXT 1 I

190 VINDOW(=12,-6.6)=(4,6.6)- 210 PRINT *T°55°/ 9429=";

200 VIEV(0,0)-(639.399) 21t LI o
210 LINE(-12,0)-(4,0),1 22 Paint o1 &
Z20 LINE(D.-6)-10.4).§ Err e
230 FOR 1=0 10 1 250 VINDOU(=12,6.6)=(£.6.6)
20 LINE (o6 = 1ebm121 20 VIED(h D2 iess 99>
e v 270 LINE(-12,0)-(¢,0).1
280 LINE(D,—6)=(0.6).1
370 LINE (1oL Drmot2e1.mu0001 20 Fo i s
280 NEXT | 300 LINE (=.1.6=1)=(.1.6-1).1
290 FOR 1=1 TO L 300t
300 CIRCLE(Z(1).0)..1 I T 0 16
310 rexT 1 330 LINE(-12¢1,.2)=(=12+1,-.1),1
320 PO=1:00=11x0=P(N) 0 Lhe
FOR X=0 TO 100 STEP 1 350 PO=1:00=):X0D=-10:E=0
340 GOSUB SO0:NEXT K 340 FOR k=0 TO 2000 STEP 2
4% 6070 1130 370 GOSUB 6001NEXT K
300 520 E=2
S10 meotatid= 530 ON L+1 6OTO 1230,590
320 A(2)e-P(1)-P(2)-P(3) S0 ok’ o
S30 AC3)eP(1)8P(2)+P(2)8P(3)+P(3)0P(1) S50 FOR T=3 To-L
340 AC)o-P(1)0P(2)aP(3)0k 360 cm:.zmn Y.
600 IF (N/2-FIX(N/2))<>0 THEN 620 370 sExT
610 HeN:GOTO 760 3 e 1w
€20 G=1 990 Z(1)==0(MN+1)/0(N) 1¥(1)=0160TO 530
0 vy o °
440 =3 610 m=0
€50 VeVeACN+1-1)8X0"] INEXT 1 620 FOR J=1 TO Ne1:ACI)=D(]1)+KeO(1)tNEXT 1:GOTO 650
640 UmACN) €30 FOR 1=1 TO Le1:ACI)=O(N—L+1)1NEXT |
670 FOR ]=2 TO N 640 N=i =0
680 Uetie nAtNe1=1 1000" 1-1) T 1 €50 IF (N/2-FIX(N/2))¢0 THEN 670
690 X(N)=XD-V/V 660 H=N:GOTO 80
700 IF ABS(3-XD/X(N))<.0001 THEN 730 €70 6o1
710 IF 62100 THEN 730 680 VmA(N+1)
720 XD=X(N)16aG+13G0TO 630 690 FOR 1=1 TO N N
T30 yiNre .01y F00 Vevea(Nel=100X0 TN §
Jorm iz TON 710 UmACN)
750 ACIISACI }oACT=1 >aX(M) EXT 1 B e 1o n
793 fr i1 irase T30 Umbe JuACNe1-1)0X0"(1-1) 1NEXT |
BE 30 740 X(N)=XO-V/V -
T30 B{1)%A(1)1B(2)mA(2)-PORB(1) T30 IF ahsti-To/xcN) )¢.0001 TN
200 1=3 0 F 770 X0=X(N)1626+1160TD 480
810 BCI1)=A(])-PONB(1~1)~00nB(1-2) sNEXT 1 T XO=X(N)16-0e11
820 C(1)=8(1)1C(2)=8(2)-PORC(1) LU L
o rm 1 T0 3. ] 800 ACT)=ACT }+AC1=1)eX(N):NEXT 1
840 C(1>=B()=POWC( 1-1)~00aC(1-2) sNEXT | 200 At1I=ACI AL eX(
850 CX=C(J)~B(J) 1CYRC( 1) ~2-CXNE( J2) B10 Jet-2onzrmmelsPa
860 Cre(BLaCL1)-8(F C( 20 /Y o
370 DO=tB(FIsCL1) 80 840 B(1)=A(1):8(2)mAC2)~PDoB(1)
830 PO=PO+OP:00=00+0Q S0 pLaratais
T JF ARSiDT)2:0001 TN 910 860 B(1)mAC1)—POSB(1-1)-00sB(1-2) tNEXT 1
e I aasiDaxc.oocy 730 870 CU1)=8(1)1C(2)82)-FDeC(1)
70 Becor 10010 P90 880 FOR 1=3 TO J
i o— €90 C(I)=B(I)—PDeC(]=1)=0DaC(1-2)1NEXT |
330 ToR Is1 JO Fraclinacing ! 900 CXRC(J)~8(J) 1CY=C(I1)2-CXC(2)
v H 910 DP=(B(J)8C(—1)-B(F IaC(~2))/CY
s prarid 920 DO=(B(F )t I-1)-8(J)aCX)/TY
o] nEN 930 PO=PD+0P100=00+(R
i °°‘°.s°. 200 940 IF ABS(DP)>.0001 THEN %60
980 X1=(~BB+SOR(DO)>/(2AA) 1Y1=.01 350 1F ABSt0R)>.0001 O 2
990 X2w(-BB-SOR(D0))/(2%AA) : Y2=.01 730 1f abs(Do)C 0001
3000 coTo 1030 970 6=6+11GOTO 840
1010 X3=~BB/(20AA) 1 Y1=SOR(-D0)/( 20AA) S SoS+1100T0 BAD  etTrnEXT I
108 Zpusreon 990 AA=1:8B=PD;CC=00:60TO 1010
I X ioniriasn-1)e-n 1000 AA=A(1):B8=A(2):CCmA(3)
1040 X(2wM)=X21Y(20M)m-Y2 3000 Jie
1050 IF J>2 THEN 760 1010 tO-88°2 neam
1060 PR J=1 To M 1030 X1=(-8B+SOR(DD))/(2eAA) 1 ¥1= .01
134 “”m"""’” 1040 X2w(-88-SOR(DD) )/ (2eAA): Y2u .03
30% ':ﬁ“’:u) 113:?) 1)=(XCI)e.1,¥(1)e.1),7 1030 GOTO 1080
1090 LINE (X(I)=.1,¥CI)=.1)=CXCI)e.1,¥(I)e 1), )
1100 LINE (X(I)=.3,YCI)e.10=(XC1)e.1,YCI)=.1),7 ;gg g:;:xgmnn-m(-mmz
I oexTe! 1080 . X(2eM~1)=X1:Y(2eA~1)==Y1
3130 LoCATE 9.2 1090 X(2eM)=X2:Y(28)=-Y2
I T uetax 1100 IF D2 THEN 810
1150 EeuRm 1110 IF Es2 THEN 11%0
1150 B0 1120 FOR 1=1 TO N
13130 PSEV(X(1).Y(]1)),?
1180 IF KO0 THEN 1170
1330 LINE (X(1)-. 1. Y(D-. 10X 2. Y020 02.7
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7R77h—2 1170 NXT 1

80.60T0 1200 .
:g’o FOR I=3 TO L:12(1)=X(1):NEXT 136070 1220
1200 LOCATE 0.3
1210 PRINT ‘ks°3K
RETURN
1230 END
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On Using of the Personal Computer as to Determining

Root Locus of the Characteristic Egations in the Systems

Koichi FUJITUKA. Takayuki NAKAGAWA

We have studied the solutions of elementary problems on the control systems and the

graphical method as to determining root locus of the characteristic equations by using the
BASIC programs of digital computer.

In this paper, we have described the results of BASIC programs of these methods and

constructed the figures of root locus of these equations in the s-plane.
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